Leuze
FAREBER
B FF o<
Bl kR 50141471

1SS 212MM/44-2E0-S12

E

- BRBH
- RYEE
- AR
- BF

- BERET
- R
- e
- E#

Em
Sl

i

ﬁ

djo
e
H

B TR c € cus 4?

LISTED 1P 67 /)

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi + 2025-06-05 17



BRI « B4R S: 50141471 « ISS 212MM/44-2E0-S12

BRSH

ERiiE

%5l
BRI NBERE S,
NS,

=it
FITRI
B
MTTF

BB
ks

MR E

fe s U,

FREAE

Fiam
BEER  BA (S WESL)
EERE BA (S WESL)
FAHIE

]
L ESIES - Eohk ot

TR E 4 H
BERE
RAFTREBR
RAFIREHR
BER

FrREHH1
TR
FRERE

FrRBRH2
FrR T
FRERE

Vs
PiE S IES
MR
T
EONE

HEEA1
ThEE

e
RO
e
b
L2
Eore)

The Sensor People

212
2 mm
0...1.62 mm

EXNE

750 F

AR AR
AR
BREY

10...36V,DC

0..10 %, RE Uy

0..16 mA
19 %
10 %
20 %

DC

200 mA
0.05 mA
<2V

B15E, PNP
NO (E7F) - R3%

REE, PNP
NC (%H) - R

2,000 Hz
50 ms

14

e R
EEHn
3
M12
1@k
£
455
A-4RTB

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

et ]

R~ (@ xL)
SRS
REERH
AF=AR
LEAS
BXEME
BE

AFRHE
FERR
RERR
RIEME R
ERER
LEDZX
REBE
HERE , T
HERE , 55
TAIE

a2

REEH
INE

& BT EE LMEMCIRTE 7

EIERH

ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ECLASS 15.0
ETIM 5.0
ETIM 6.0
ETIM7.0
ETIM 8.0
ETIM 9.0
ETIM 10.0

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

Leuze

B

12 mm x 50.2 mm
M12 x 1 mm

7FF

K-

R E

B¥, RRK (PBT)

159
3=

iR
RERIBY

12 x 12 mm? , Fe360

LED
14

-25..70°C
-30...80°C

IP 67
Il
cULUS

EN 61000-4-2, -3, -4, -8

0.5
0.7
0.3
0.5

85365080
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714
EC002714

REBAREEHRF
chi « 2025-06-05

2/7



BRI « B4R S: 50141471 « ISS 212MM/44-2E0-S12
R~ B4

PRAERY 2GR EXR

SW 17

e

ik

%m

BAAE

%

ot

3%

5

318 Bl B
1 V+

2 OuT 2
3 GND
4 OuT 1

The Sensor People

e iR
FEm
Bk
M12
1k
£
4/15|H
A-4Rig

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

N

=

info@leuze.com « www.leuze.com
BBi% : +49 7021 573-0 « £ H : +49 7021 573-199

Leuze

Q

REBAREEHRF
chi « 2025-06-05 3/7



BRI « B4R S: 50141471 « ISS 212MM/44-2E0-S12
EFN
T, FYRE

S, [mm] E2RUA 3T FE FRE
d ER/E®

BENE TR

LED 5

1 #E KR
= NG

== O 1 = S

FmE SR

=mEM : ISXYYY ZZ/AAA.BB-CCC-DDD-DDD

ISX ThHEIREE / ®it
IS : BRI X, PR
ISS : BRARKITK , |ikit

YYY EX
203 : @ 3 mm %5
204 : @ 4 mm %5
205 : # M5 x 0.5 SMNELSH = R R 5
206 : @ 6.5 mm %5l
208 : i M8 x 1 JMELH ™= mR5
212 : # M12 x 1 JNELH 7= R R 5
218 : i M18 x 1 JNRLH ™= R R 5
230 : #F M30 x 1.5 SNBLH = @R 5
240: FRAZIT RS
244: FRAZIT RS
255 : 5 x 5 mm? BEHRI
288 : 8 x 8 mm? B EFHR %I

7z ST /1R
MM : £BAFE (BRI : 2B ) / AFIRK
FM : £22BAR (BRI : THM AISI 316L ) / LNHIERL
MP : @BAF (BRI - 2 ) / AFIRY
2 HRRA

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

The Sensor People

Ui EA

IF R B /T RRS

info@leuze.com « www.leuze.com

Leuze

REBAREEHRF

BBi% : +49 7021 573-0 « {5 E : +49 7021 573-199  chi « 2025-06-05 417



BRI « B4R S: 50141471 « ISS 212MM/44-2E0-S12

7= B R Leuze

AAA I HEBIR / BIR
4NO : PNP &{&E | EIF AR (NO)
4ANC : PNP &% , #HAMK (NC)
2NO : NPN 28 , BIT AR (NO)
2NC : NPN @&#&& , BRI (NC)
1NO : 4keigs | EIF AR (NO) /AC/DC
INC : 4¥e235 , EHAK (NC)/ AC/DC
44 : 2 PNP @&{KETF R HiRm , K3 (NO +NC)
22 : 2 NPN @B RHtin , R (NO+NC)
L : IO-Link #1Q
X : BIRIRA

BB BHRES
BUH - TR®REE
5F : BRI
5 : S\FE %L V2A (1.4305, AISI 303)

cce MESEE / REFR
1E0 : WRIRMEBSEEKE 1.0mm / FELE
1E5 : RN ESEEKE 1.5mm / FELE
2E0 : IRFRMESTERE 2.0mm / FFERE
3E0 : MPRMESTERE 3.0mm / FTERE
4E0 : MPRMEBSBTERE 4.0mm / FFPRE
5E0 : RN ESTERE 50mm / FTERE
6E0 : IRFRMEBSTEZRE 6.0mm / FFERE
8EO0 : IRFRMEBSTERE 8.0mm / FFERE
10E : PR ESBE XA 10.0mm / FERE
12E : R EBSBE XA 12.0mm / FERE
15E : PR EBSBE XA 15.0mm / FERE
20E : PR BSEEZERE 20.0mm / FFFERE
22F : WPRNBSEEZRE 22.0mm / FFERE
2N5 : RN ESBERE 2.5mm / IEFERE
4NO : HERMESBERE 4.0mm / IEFERE
8NO : HERMESBERE 8.0mm / IEFFERE
10N : WPRMBSEERRE 10.0mm / IEFFERE
12N : WPRNESEERRE 12.0mm / EFFERE
14N : WPRNBSEERRE 14.0mm / IEFTFFERE
15N : WPRMBSEERRE 15.0mm / IEFTFFERE
20N : R ESBE LA 20.0mm / IEFFRHE
22N : R ESBE LA 22.0mm / IEFFRE
25N : R ESBE LA 25.0mm / IHEFFRE
40N : RN ESBE LA 40.0mm / IHEFFRE

DDD BARERE

BUE : 848 , #EKE 2000 mm

S12: M12 BiE#ERR , 4 4, B

200-S12 : B4 , KE 200 mm , & M12 BiE#ERS | 4 £, BEF
200-S8.3 : B4 , K& 200 mm , # M8 EE#ERS , 34, B
S8.3: M8 EE#ESR , 34, EF

005-S8.3 : B4 , K& 500 mm , & M8 BiEH#Ess , 3 4, B
050 : 84 , FREKE 5000mm , 378

& PR AR R RBEIRIBEERT S MM www.leuze.com,

L

/\ saanemne

b ARk ERE  REATARRE.
Y REERT WA FAF BB AET,

S ERREERARERA Ao

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi + 2025-06-05 5/7



BRI « B4R S: 50141471 « ISS 212MM/44-2E0-S12

. Leuze

L WNTFULNA , RENEC(REERBSME)ERIAAF 2R B FEA.

a3
EERR - EEEH

B RS BN [ i8R

50130654 KD U-M12-4A-P1- YEEEY R L, M2, B, fREE, A-4RED, 4 NEIRD
020 Bz, LED: &
ERE2: FF O
BR® &
Wiy BYKE: 2,000 mm
. FEMB: PUR

50130657 KD U-M12-4A-P1- EREERL EREE L, M12, BFY, AR, A-4REB, 4 NI
050 E$#k, LED: &
FERE2: FF O %
BRE B
Wiy BAKE: 5,000 mm
. FEME: PUR

50130648 KD U-M12-4A-V1- B HE: L, M2, B, fREE, A-4RED, 4 NSIRD
020 BEi#ZK, LED: &
HERE2: FF O
BR® &
Wiy BYKE: 2,000 mm
! FEMEL PVC

50130652 KD U-M12-4A-V1- T Y R Bk, M12, BEFY, T, A-4RTB, 4 NEIRD
050 [E##k, LED: &
HERE2: FF Oi%
BRE% &
Wit B4KE: 5,000 mm
) PEME: PVC

—([} @ —ullE @ —ulE @ —ullE @

A

IoH

RE - REREXE

BHmS A [T A
50113549 BT D12M.5 RRLE AE: 12 mm

RERZFRITLE/E
BREMEEMF: BARE
FEMEEMF: BAEX
REREXRE: Rt

M T

Leuze electronic GmbH + Co. KG info@leuze.com * www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi + 2025-06-05 6/7



BRI « B4R S: 50141471 « ISS 212MM/44-2E0-S12

B Leuze

RERE - HAtb

B trms =L [ Wi
50111499 MC 012K *x& A£E: 12 mm

BHRIZZRIRIT REX
BEMNEES BILRE
KEMEEH: ARE
RBHRIZZRR: NI

50111500 MC 012K-LS *x8 AR 12 mm
BERIZZIRIT REX
BEMNEES: BILRE
FEM BT LR R
TBHRIRZRA: NI
M R

Y PR A AE S RE LT SN MEERAEMAE S TEN TRETF.

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 + f5E : +49 7021 573-199  chi + 2025-06-05 7



